Unit 4 Systems of Equations and Inequalities

NAME:

PERIOD:

Homework Problem Set

1. Graph the solution to the following system of

inequalities:
x=0
y<2
Xx+3y>0— x*?g 70
3y >x+0
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2. Graph the solution set to the system of
inequalities.
2x —y<3and4x +3y=0
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522 Module 2 Solving Equations and Systems of Equations

3. Aclothing manufacturer has 1,000 yds. of cotton to make shirts and
pajamas. A shirt requires 1 yd. of fabric, and a pair of pajamas requires
2 yds. of fabric. It takes 2 hr. to make a shirt and 3 hr. to make the
pajamas, and there are 1,600 hrs. available to make the clothing.

A. What are the variables?

« H of Shirts mode
et of PJs made

B. What are the constraints?

° HOUQ MUCh tlm‘e MQHU'FQC‘I'URQI‘ hQS é © VectorPlotnikoff/Shutterstock.com
* Howd much material is avallable

C. Write inequalities for the constraints.

X=#of Sle‘tS X220

y=¥%of PJs Y20
X+2Y £ 1000
AX¥3Y £ 16600
D. Graph the inequalities and 600
shade the solution set. 500
450
E. What does the shaded region : 150
represent? ‘ 1:
The shae(ed realor\ r‘epresenis 0
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variouS combinationS of shirts

ond PJS +ha1- i+ UJOulcl e 'FOY" Number of Shirts
manufacturert o Mmake

F.  Suppose the manufacturer makes a profit of $10 on shirts and $18 on pajamas. How would it
decide how many of each to make?
mManufacturer LontS o make as many as possrbie, So e

Maximun Should be at one of +he en ‘ F
S\na\g\ed region. points of the

G. How many of each should the manufacturer make, assuming it will sell all the shirts and

pajamas it makes?
Profit= [Ox+] 8 (2oo) Ho0)>% G200 profi4

CO)SOD) >gqooopmp‘-_l_ CgOOJ O>__) $ 8000?"'0—“}

He should make 800 shirtS § Y00 pairs of PJs
for mox Profit.
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. A potter is making cups and plates. It takes her

6 mins. to make a cup and 3 mins. to make a plate.
Each cup uses % lb. clay, and each plate uses 1 lb. of
clay. She has 20 hrs. available to make the cups and
plates and has 250 lbs. of clay.

A. What are the variables?

c.—. 'H’ D'F QJPS
P: '# O‘F P\OEE’S

© ltummy/Shutterstock.com

B. Write inequalities for the constraints.

CO0 3Bc4lpdaso
e+ P need 4o represent minufes

P20 -’l_oc+_\_ o £ 20 .~ oS afraction ofan hour
20 - 400
C. Graph and shade the 380 \
solution set. 360
340
320
300
280
D. If she makes a profit of $2 22
on each cup and $1.50 on -_3 _— N
each plate, how many of each % 200
should she make in order to é 180
maximize her profit? Z 160
140 \\
where (1120 cups \
o
inequalitis ( bOPIGLES = D
Intersect . )
20
0
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Number of Cups

E. What is her maximum profit?

120 cups—> 2(r20 = 3240
1L o plates — 1.5ty = $240
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Graph the solution set to each system of inequalities.
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